
Pythagorean Theorem (C)
Name: Date:

Calculate the missing side measurement using a2 + b2 = c2.

1.

a

14
.1
yd

20.37 yd

2.

2 yd

b

4
.92 yd

3.

25 yd

23
.5
yd c

4.

a

25
ft

29.42 ft

5.

3 yd

b

4.1 yd

6.

9 ft

6.
9f

t c
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Pythagorean Theorem (C) Answers
Name: Date:

Calculate the missing side measurement using a2 + b2 = c2.

1.

14.7 yd

14
.1
yd

20.37 yd

a2 + 14.12 = 20.372

a =
√
414.9369− 198.81

a = 14.7 yd

2.

2 yd

4.
5y

d

4
.92 yd

22 + b2 = 4.922

b =
√
24.2064− 4
b = 4.5 yd

3.

25 yd

23
.5
yd

34.31 yd

252 + 23.52 = c2

c =
√
625+ 552.25
c = 34.31 yd

4.

15.5 ft

25
ft

29.42 ft

a2 + 252 = 29.422

a =
√
865.5364− 625

a = 15.5 ft

5.

3 yd

2.
8y

d 4.1 yd

32 + b2 = 4.12

b =
√
16.81− 9
b = 2.8 yd

6.

9 ft

6.
9f

t 11.34 ft

92 + 6.92 = c2

c =
√
81+ 47.61
c = 11.34 ft
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